i Question No. 32

What is the IUPAC name for the following?

CH3
|
CH3- C =CH2~CH3
|
CH3
2 2-d:metnylbutane
3.3 dimethyibutane

2 dimethy Ibutane

dimethy butane
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Question No. 8

Which one of the following elements forms two or more ions with different ionic charges?

ot

Fe




Question No. 7

What is the molecular formulaofa compoundthat hasa molar mass of 180 g/mol and its

empirical formulais CH>O?

C4HgO4
CeH120s6
C2HO2
CsHi00s5
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Question No. 28

CO, acts asa Lev vis acid in the reaction C a0(s)+CO,

turns blue litmus to red
reacts with a metal
is a proton donor

ic an electron-pair acceptor

’ H‘thll;”: ‘>y'; ‘ l"l"} H,‘ "m “I‘ ! ; I‘} | el 0 ST l
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_» CaCO,(s) because it
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[ Question No. 39
Ix of carboxylic acid?

What Is the systemalic name sufft

| @ -oic acid
)' @ oate.

| @ -al

| @ -one
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Question No, 27
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Produces OH

Y

an electron pair accepiol
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Chemistry

Question No. 5

What is the coefficient of oxygen gas after bal

ancing the following equation?
A ,
_AgClO3(s) —  AgCl(s) + _O2(g)







Question No. 25

According to the following reaction, which molecule is acting as a conjugate acid?
H,0 + H,S80, — H,0" + HSO,

HSO,
H,S0,

H.0

H,0




Question No. 38

Conversion of an aldehyde to an alcohol 1S known as reaction

y Addtion
Reduction
Esterification

Oxidation
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Question No. 37

Wwhich of the following compounds s an ester?

O
CH \CH.‘C —O—CH.
9

i
CH;CH,CNH,

O
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Question No. 8

The name of the chemical compound CuBr js:

Copper(l) Dromide
Copper(il) bromide
Copper(lil) bromide
Copper bromige
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Question NO. 35

Wwhat is the common name for HC=CH?

ethylene
) acetylene
propyne

) elthene



MKCL OES

Question No. 9

The systematiC name for the chemical compound Napbr IS.

sodium monobromide
sodium(l) bromide
sodium(ll) bromide

sodium bromide
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Question No. 37

Which of the foliowing COImy

O
I

\-’H.;\\H.-\\—\\—\‘“;

.
. ;]
CHCH,UNH,
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Question No. 4

Which of the following elements is a metal?

' nitrogen
strontium
argon

fluorine




' Queston No. 19
| Onadation cannot occur without

@ reduchion
O waler

0 xx

O oxygen
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Question No. 10

The molar mass of water Is equal to

18 g/imol

36 g/mol

54 g/mol
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Question No. 29

Which of the following pairs of species is not a conjugate acid-base pair?

H>O and OH
HSO4 and SO’
NH; and NH>
H>SO4 and HSOy




| Which molec ute contams the weakesd carbon ¢ arbon bond?

® HO-CH
® F,C-CF,
® H,CCH,
@ H,C-CH,
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Question No. 11

The most comrrect name for the compound CO 1S

~arbon oxide
monocarbon monooxide
arbon monooxide

carbon dioxide
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Question No. 12

I'he charge of hydroxide ion is

]+

-
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\ Wthh of the followin
I BCl

..-——"'—"

g are Lew1s bases”?

© 1 andll)

& 1), 11), and 111)

© 1), 1) and V)
1) and 1V)
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Question No. 35

Provide the name of the compound below.
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Which of the changes listed below will shift the equilibrium position to the left for the
following reversible reaction?
CO@E) + H,0®) == CO\g) + Hy(p) + heat

@ An increase of temperature

@ A decrease of volume
¥ Anincreascof [H20)

9 A decreaseof [CO|




MKCL OES

= Fvemtaofake 4

Question No. 21

Which of the following elements has the highest electrone
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Question:
Which of the following is a chemical change?

Options:

® cutting a copper wire into two pieces
@® evaporation of gasoline

® rusting of iron

® dissolving salt in water
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INSTRUCTION: “Auki Please choose the BEST answer from the given optiops“for eachque

Question:

The correct name for CaCO3 is L

Options:

® calcium monocarbonate.
® calcium carbonate.

® calcium(II) carbonate.

@ calcium carbon trioxide.
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{ Question:

Whatis the name of compound shown below?

CHz
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1 Questlon.
Whlch of the following elements belongs to the halogens g
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/ @ Created the modern periodic table

| @ Proposed the modern Atomic Theory

| @ Discovered the existence of electrons |
Ancient Greek philosopher who proposed that matter was co,niinuous
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INSTRUCTION: =AM Please choose the BEST answer rrom the givPl\ !obdd;'q‘s! HJ #;ﬂ%ﬁﬁﬁm , | :

Question:

What is the [TUPAC name for the following compound?
CHg

CH3CHo CCHo CHy

CH1a

Options:

@ 2, 2-diethylpropane

@ 2, 2-dimethyl-2-ethylpropane
@ heptane

@ 3, 3-dimethylpentane

o Wl nmm : Am.lmdhﬂ"
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Question:
lonic compounds often contan

Options:

© nonmetallic elements only

® both metalic and nonmetallic elements
® neither metalic nor nonmetallic elements
© metalic elements only
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Question:
Which of the following elements belongs to the halogens group?

Options:

® Fe
® Co
© Na
® Cl
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The carbon skeleton of an alkane is shown below. How many hy ’g:*"f,'f; are.
bonded to the carbon marked with a*? ‘ W )

Options:

o3
02
~0
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INSTRUCTION: <~ Please choose the BEST answer from the given optiqn’s fo

Question:
Which of the following is not part of a nucleotide?

Options:

® fatty acid

® cyclic amine base
© a sugar

® phosphoric acid

........

r each ques




when 94 .5 grams of Al completely react

" How many grams of AICl; could be produced

with Cl; according to the reaction?
2Al + 3CL, — 2AICI;

O 4679
' 533 ¢
399 9

133 4
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INSTRUCTION: =~ Please choose the BEST answer from the given options for each qu

Question:

Identify the functional group:

$E—"a

Options:

@ alcohol
@ amine
&) amide

L ester
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INSTRUCTION »M Please choose the BEST answer frc;m Ehe given op\l.or{s l‘ou4 e-uh]él

Question:

What class of hydrocarbons has the general formula CnH2n?
Options:

® alkenes
® aromatics
© alkynes
@ alkanes
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| © abaseis a protondonor,
1 © anacidis a proton donor

| © abaseproduces H ions in an aqueous solution.
© anacidis a protonacceptor.
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Question:
Which of the following is a heterogeneous mixture?

Options:

© pure water
© tap water

© gasoline

2 ice and water
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| Which fany Is most likely to fqrﬁl diatomic molecules? ¢ - °

il it %

——————

@ Group VII-A
@ Group VIII-A
© Group VI-A
O Group V-A
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INSTRUCTION: < Please choose the BEST answer from the given options for ¢

Question:
sucrose, common table sugar, when hydrolyzed will form

Options:

lactose and maltose.
glucose and fructose.
amylose and glycogen.
cellulose and starch.




Queston No 19

How many grams of CO; could be produced when 44 grams of C;HCOOH completely
react with oxyeen gas according to the reaction”?
CiH,COOH + SO » 4C0O 1HO







+966 58 007 2400 @ Practice exam 2 oo dluy ()

.1\ i
S A

INS’TRUCTION CAasn Please choose the BEST answer from the given options for each question.

Question:
Compounds that have the same formula but different molecular structures are called

| Options:

® isomers.
® isoelectronic.
® isotopes.
© i1sotones.
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1o form & satt and waterina ___/___reaction
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Click on the question number to solve it.

____P12015_Chemistry  [EENCOMCTRICTRICEIETRICTRleTa ) l9-°—‘-!”9-‘£”9—
Q23] [925] [o2e] [oa7] 28] [ozs) [aa) (Rt (632 (633 [o3:

INSTRUCTION: <+ Please choose the BEST answer from the given options for each que:

Question:
Which one of the following carries no electrical cha rge?

Options:

O a proton
© a neutron
© a cation

> an electron
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INS'mucrmN ki Please choose the BEST answer from t:he 0 . h A litlon fo'fl

Questmn.

In the following reaction H2S04 i1s I
H2S04 + HI = 12 + SO2 + H20

Options:

® the oxidizing agent and is oxidized
© the reducing agent and is reduced
© the reducing agent and is oxidized
@ the oxidizing agent and is reduced

Ja







Question:

In order to form an octet, an atom of selenium will:

Options:

® lose 2 electrons.
® gain 6 electrons.
® gain 2 electrons.
® lose 6 electrons. 23
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INSTRUCTION: <« Please choose the BEST answer from the given options for each G

Question:
Another term for alkanes is

Options:

saturated hydrocarbons.
unsaturated hydrocarbons.
alkenes.

alkynes.
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How many grams of CO; could be produced when 44 grams of C;H,COOH completely
react with oxygen gas according to the reaction”?
C;HCOOH + 50; — 4CO; + 4HO
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Quesnon'
Which statement about electronegativity is incorrect?

Options:

® Fluorine is the most electronegative atom of all the elements.
l ® Metals generally have higher electronegativity values than nonmetals.
' ® Within a group, electronegativity increases from bottom to top.
® Within a row, electronegativity increases from left to right.
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Question:

A solution with a pH of 2.0 is .

Options:

@ strongly aadic
© strongly basic
© weakly aadic
© weakly basic
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{ j (D sulfur

cereal and mIIK

0 @ baking soda
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Question No. 14
7—0,,

Which of the following mdlcatesﬁ liquid in a chemical equatlon?

-4
& » :
»

1

e

© (9)
@
© (aq)
© (s)




Question:
A(n) s achemical bond that results from the sharnng of a pair of electrons between two at

Options:

© covalent bond
® metalic bond
® onic bond

© molecular bond
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INSTRUCTION: «.ux Please choose the BEST answer from the given options for each qu

Question:
In a solution, the solvent is

Options:
always water

the substance present in the greatest amount
always a liquid

the substance being dissolved
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( © metalloid
.| @ noble gas
| @ nonmetal
@) transition element




o4 l< "l",l'n i A : l:'"?“'"' WA TN N

= £ ic 't 'x:h mn ‘ : P ! )
' AT Kt Ea

» mubm { f,, “..,"_ W

tbthapnrmlyleldfou mm)onﬂtstheoudalylddbss and its ac ‘

4 Jd’l"l ‘ ' . ‘. "“"V
. W“ 'y , ‘(ilﬁ’ ) "‘a 4

It 'v,l.‘-‘ ' : Y { ""*L'_ql’ ’“'




g
W
i

4

)

r(

i

g
B!

——

e

P

g i m ::;

'}; A ‘1
n'.'

R

W
i

} !! .. 8 |

"] .;.

L "f.;"
Nt
g o
N
NI Rt

M LR 1 wmmmmum

: v
nnnnn

0

Queshon-

Whuch of the following elements is a metalloid?

| Optlons:

® Si
© Al
@ Mg
@N
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| Which of me tolqwmg statemenﬁ about energy is FALSE?

lSl ’

A @ Energy cannot be transformed from one form to another.
'@ Energy is the capacity to do work.
© Energy can neither be created nor destroyed.

) An object possessing energy can do work on another object.




INSTRUCTION: < Please choose the BEST answer from the gives

Queshon:
Glucose can be dassified as a(an)

Ophons:




Question:
Which of the folowing is a non-electrob

Options:

© KOH

® HC]
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odor.
Funcuoual qgroup.
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In an Arrhenius acid-base context, the compounds KOH, H2804, and HNnghendissolvedan | ‘ . i
water, function respectively as a (n) . i
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Options:

® acid, base and base
® base, base and acid
® base, acid and base
® base, acid and acid
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Question:

In an Arrhenius acid-base cohtékt, the compounds KOH, H2804, and HNO3 wi
water, function respectively as a (n) :

Opuons:

® acid, base and base
@ base, base and acid
® base, acid and base
@ base, acid and acd
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Question No. 16

- Whatis the empirical formula of the compound that has a composition by mass 0f34.6%C,
3.9%Hand 61.5%0?

® CH0

O CHO3

0 C3H404

@ CHO

Save & Next A\, ki
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rmsmucrrou = Please choose the BEST answer from the given options for each quesbon.
!

Question: _
What is the term for a triglyceride (tnacylglycerol) from an animal source that ha:
Options:

© wax

© phospholipid
® ol

© fat
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 measure changes in intemal energy for formation reaction ' Y
' measure changes in external energy for combustion reaction

“imeasure changes in intemal energy for combustion reaction

2 measure changes in extemal energy for formation reaction
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NSTRUCTION: = Please choose the BEST answer from the given options for each question.

Question:
Which expenment led to the notion that the atom contains an extremely small, positively

Options:

> Dalton’s atomic expenment

D Rutherford's gold foil experiment

D Millkan’s oil drop experiment
Thomson's cathode ray experiment
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Question:
Which of the following would not be considered matter?

Options:

© hght

® cheese
® blood
© plants




= w4 3 MY AT & & i4 Vb T S -

- ‘.:z ,"i't "..’z-,'.‘f".’z AN ’.“;':;‘;,; 3 Neid Ulesirza Bir g putilil WEMPRAL
. . ¢ . B | PR 4 ot . { ¢

& A T e bl DR AOAL A T 4 P B AL h il ies

. bR
‘

The systematic name for the chémical compound RbCI is:

| —

"I @ rubidium(l) chloride

@ rubidium(ll) chioride
& rubidium chloride

) rubidium monochloride



) 2-hexene
 1-hexene
© 3-hexene
1 hexene




Click on the question number to solve it. = | W Answere

[ P12015_Chemistry  MCERICTRN o I s ) ) 9 s ) 5 )
Q24 [Q25) (@28 [Q27] [Q28] [Q29] [Q30] [Qa1] [Q32] [Q33] [G34] [Q33] [Q36] [qa7] [Qa

INSTRUCTION: =& Please choose the BEST answer from the given options for each question.

Question:
Liquids are characterized as having _

volume which means they are

Options:

indefinite, incompressible
indefinite, compressible
definite, incompressible

definite, compressible
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| xusmucnou w Please choose the BEST answer from the

J

SRR L
dia} =;.:.f’f ;'?1, 0 'kd,;g,r é

Quesnon.
Which of the following is not a pure substance?

Options:

® sodium bicarbonate
® distilled water

© blood

® calcium
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) 2-hexene

@ 1-hexene
@ 3-hexene
1 hexene
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Questlon.
An ionic bond forms between two atoms through

Options:

@ sharing of electron pairs

® transferring protons from the nucleus of the nonmetal to the nudeus of the metal
® transferring of electrons from metallic atoms to nonmetallic atoms

@ each atom acquiring a negative charge

G uﬁ“bn‘“ MM”M»JM »




INSTRUCTION: == Please choose the BEST answer from the given options for e

Question:
Which is a characteristic property of nonmetals?

Options:

© thermal conductivity
© bnttle

© luster

© malleability
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Queshon:

What is the formula mass of C4HgO 1§ —=====emmnmmee- =,
Options:

©57.10 amu
©70.10 amu
©54.10 amu
© 64.00 amu
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Which oftﬁe following is a chenﬂ/cal change?

I © burning sugar

& mefting goid

) shine of silver

0 odor of paint thinner

“



© measure changes in intemal energy for formation reaction

' measure changes in extemnal energy for combustion reaction
Y measure changes in intemal energy for combustion reaction
= measure changes in extemnal energy for formation reaction



INSTRUCTION: <k Please choose the BEST answer from the given of

Question:
Glucose can be dassified as a(an)

Options:

disacchandes.
animal polysacchande.
monosacchande.

plant polysacchande.
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Gnummd hydrocarbon
- aromatic hydrocarbon
@ hydrocarbon

O unsatumad hydrocarbon
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,msmucﬁon: wui Please choose the BEST answer from the given options for each

Question:
The number of neutrons in an atom is equal to:

Options:

© atomic number - mass number
© mass number - atomic number
® the number of protons

© the number of electrons
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@ the reaction rate of the reverse reaction is small compared to forward.

4

. © the amount of product and reactant is exactly equal.
|| © the reaction rate of the forward reaction is small compared to the reverse.

. © the reaction rate of the forward reaction is equal to the rate of the reverse.
|



r

INSTRUCTION M Please choose the BEST answer from the owen opttOns fOr 3

Question:
Which of the following is a physical process?

:
i

Options:

® the explosion of nitroglycenn
® the baking of a potato

® the rusting of iron
® the condensation of water vapor
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'INSTRUCTION: <t Please choose the BEST answer from

Question: | |
The sugar in the nudeotides of RNA is

Options:

. nbose.
Sucrose

glucose.
" lactose.
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INSTRUCTION: =+ Please choose the BEST answer from the given optionsrfprj

Question:
Which one of the following amine bases does not appear in DNA?

Options:

® guanine
@ adenine
© uracil

© cytosine

—— e g

éadw' que:
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@ burning sugar

| @ melting gold

© shine of silver

() odor of paint thinner
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rxusmucnon: M P_lease ;hoo;e the BEST answer from the given options for each quest
:

Question:
Which of the following is a heterogeneous mixture?

Options:

® pure water
© tap water

® gasoline

@ ice and water
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INSTRUCTION: « Please choose the BEST answer from the given options fo

Question:

Which of the following is not 2 strong base?

Options:

© NaOH

~ NH;

~ KOH

Ca(OH)>




- Question No. 5

—~nSD————e— R —

Which of the following is an example of chemical property

© density
@ color
< flammability

J laste




Question No_ 11

-."J- § 1Al
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Question No. 15

‘el dnt . . " - : . -\ " - -
ACCOraing to the Paull exclusion principle. any Fonal can hold at most
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Question No. 24

ATeh of tThese elements has the lowest st onabior

Aurmmum
wWfur
woadmum

phosphorus
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Question No. 14

nent that has ONE valence electrons is




Question No. 21

How many sulfur dioxide molecules (SO;) are there in 1.80 mol of sulfur dioxide?

1.08 x 1023
6.02 x 1024
1.08 = 1024

.80 = 1024




Question No. 18

The elements rubidium, sodium, and potassium

are |sotopes of each other

are in the same period of elements
are in the same group

nave the same number of neutrons










Question No, 29

which of the following elem

O nitrogen
L Tluorine
strontium

argon

ents

15

a met

RS

d

~
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What s the correct Tormuia or a petassium on with 18 electrons”?

K
'K




|
- Question No. 19

- When an atom gains an electron, the resulting particle is called:
|

O a cation.
() an isotope.
() a proton.
() an anion.
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& between metals and nonmetals
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Question No. 25
The atomic SiZE (radius) of aloms

3 increases gomng across a penod.
> does not change going across a penad.
- decreases going down within 3 group

) decreases going across 3 pefnod
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Question No. =

| Helum has _ valence electrons



e I

Iyl &Y

v 4

s
|
| Question No. 3

The elements In a column of the periodic (able are Known as

. @ a period
| @ Metalloids
> Noble gases.

& a group




Question No. &
Which of these elements has the lowest first lonization energy?

O phosphorus
O sodium
O aluminum

) sublfur




Question No. 2

Wwhat is the electron configuration ror calcium atom?

1522522p83523p06
1522522p063523p10
1522522p0 35235343

1522522p03523p0452
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Question No. 22

The molecular formula of aspirin is CsHsO4. How many aspirin molecules are pres

in one 500-milligram tablet?

0 1.67 x 10* molecules
1.67 x 10?! molecules

2 77 molecules

277 x 10 molecules



Question No. 19

What is the term for a substance that accepts a proton in an acid-base reaction?

Arrhenius base
Bronsted-| owry base
Bronsted-Lowry acid

Arrhenius acid
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R85> 10 atoms

3

0.533 mol,
M

.87 mol, | 13 x 10 atoms

: '4

| 87 mol, 3.10 * 10" atoms

* 0533 mol, 3121 »10 aloms






Question No. 8

The name of the Cu?* ion is

copper(ilf)
' copper
copper(l)
copper(ll)




MKCL OES

co Ly v

Question No. 8

What is the coefficient { ca




Question No._ 4

A solution has 5 density of 1.2 4 ML What volun

eonrfn
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Question No. 18
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Question No. 2

Helum has

valence electrons
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Question No. 1

’ " 2l ! 3 N ’:' 2l { ."! =) I‘ ; ' 0' ! .‘| » ’ g $ »
K pl pher who proposed that matter wa naor
1 ¢ | '?” I
1 I definite proportion
i ' Pt qic table




Determine the molecular formula of a compound that has a molar mass of 146 g/mol and
an empirical formula of C3Hs0,.

© CeH504
CiHsOy
CoH1506
CeH1004




most likely to farm diatomic molet Lies

)
N
- LA\
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What is the correct formula far the iron(lll) ion?




Which one of the following elements is a2 poor conductor of heat and electricity?

EDDDEF
iron

lead

D

fluorine







Question No. 18

N "t1 r\Jl}‘s,“” n ntain -~ . { Na

'{”'\" many |ITQ [ N1 A




Question No. 3

which of the following properties is NOT characteristic of the Group 1A(1) elements (alkall metals)?

They are good conduclors of heal
- ;-_"..‘ are ;h‘p v
hey are good Condux tors of eleciriciy

‘At of tham T *
AOS hem are hquids at room temperature

4URI




Question No. 20

Which of these compounds 1s a strong electrolyte?

8
CeH1206 (glucose)
H0

H>SOq



Question No. 15

The name of the chemical compound CuOH is

Copper hydroxide
copper(ll) hydroxide

copper(l) hydroxide

copper(lil) hydroxide



Question No. 14

The most correct name for the compound CS; 1s:

carbon trisulfide
carbon disulfide

carbon disulfide

Arbon sulfide




How many moles of AIC1; could be produced when 284 grams of Cl; completely react
with aluminum according to the reaction?
2A1+ 3CL, — 2AICI;

267 mol
3.92 mol
4 60 mol

3.33 mol




Question No. 25




Question No. 8

What coefficient is placed in front of 02 10 complete the balancing of the following equation?

csHg + 202 — 5C02 41,0



Question No. 7

Which group of elements IS mostly 1

alkaine earth metals
akah metals
noble gases

n "‘\:?""-.

ound as diatomg molecules?




What is the chemical formula for the binary compound composed of MgZ 1 and O2-ions?

MgO
MgO2
Mg202

Mg20




Question No. 24




Question No. 10

What is the empirical formulaof the compound that has a compositionby mass 0f34.6% C,
3.9%H and 61.5% 0?

CH;0O;
CHO
CH;O
CiH Oy










Question NO. 22

1‘2. )

343101
L ¥

.:u:.’civ.ncutll O
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Question No. 24

Define polential energy

energy associated with the motion of an object

Energy associated with the force of an object

€nergy associated with the position or composition of an
ENergy associated with the te

object
Mperature of an object
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[he two molecules represented below are examples of

CH-CH-O-CH-CH;: CH;-CH-CH>-CH -OH
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Quostlonﬂo 23

. Short bonds are usualy

@ Weak, strong
@ Strong, weak
@ Strong, strong
© Weak, weak

—— e e >

_while the long bonds are ..
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Question No. 24

gative?

s aloms IS the mosl electrone

D

which of the

Al

| P

m
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Question No. 1

Which one of the following does NOT occur in a chemical reaction?

O Matter is conserved

' Matter is rearranged
@ Aloms react with other atoms

Aloms are Changed into other atoms
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Question No. 21 ST ———

‘ What is the term for a compound that releases hydrogen 10nS when dissolved

in water?

¢ base

@ ack
@ aqueous solution

¢ aqueous salt
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| What is the oxidation number of sulfur in H,S0,?

Q@ -2
O +4
Q +6
+2




Which of the following elements has the lowest electronegativity?




Question No. 29

vhich molecule contains the shortest carbon-carbon hond

H,C-CH,
F,C=CF,
HC=CH
H,C=CH,




@ H.PO,

@ NaOH
HCOq

HNQO:
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Question No. 6

A neutron has an electrical charge of




vhat is the final molarity of HCI solution, if 25 mL of 2 M HCI was diluted to a final volume of 400 mL?

IT' -.:i': M

D1 M
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Question No. 8

What are the cormrect coefficients needed to balance the reaction below?

-A.‘ | MAl ™ » ) L"ll
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. Which of the following compounds gives a noh electrolvte agueous solution?

® H,CO;

@ CyaHn0yy
Na,CO;
H;POy
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Question No. 12

The chemical formula of the compound formed between sodium and fluorine is

NaF;
N:\;F
NaF

_\':lf":
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Question No. 7

One of the following elements eXiSiS as a diatomic molecule:

neon
algon
ron

chiorine
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qQuestion No. 8

In this react101

‘-

y what is theC




Question No. 15

Which of the following Polyatomic ons has a positive cnh

(Y

arge?

ammonium jon
hydroxide on
sulfate on

carbonate on




Question NO 19




The name O {

coppcnnn
coppel
(oppvr(m

e copper(l)

the Cu

+ 0N 1S _
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Question No. 19

What i the concentraton of HCI in e

® 52M
©28x10°M
@ 52x10°M
28 M

nal solution when 65 mlL of 2 12 M HCI soton s

Aluted with Gstiled waler 10 a 1otal volume of 01517

-2
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Question No. 16

The combustion of propane (C3l1g) produces CO» and H»O:

C3Hg(8) + S0y (g) — 3CO (g) + 4 HHYO ()

The reaction of 5.5 mol nt'()_' will produce mol of H>O
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Question No. 14

The most correct name for the compound SClg is:

Sulfur nonachloride

Sulfur chioride

Sulfur octac hloride

monosulfur octachloride
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. Question No. 21

In the following reaction, which reactant is a Bremsted-Lowry base?
HClag) + KHS(ag) — KCl(ag) ~ H2S(aq)

F Kl
KHS

HC]
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Question No. 6

L Whkh of the following 18 a general guideline for balancing an equabion?

@ Allare correct

» Check each reactant and product o verity the coefhcients

Dalance polvalomic ons as a single uni

Wile correc! formulas for reactants and producls
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Question No 18

Whh of the Tolomng & roe Delore 2 roac ion reac hes Cheme al equibnrun

W reachon s ncreasng, and the rale of the reves
Qrward and revene reachons are decreasng
CAachon B doecreasng. and the rale of the 1

J and reverse reachons are increasing
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Question No. 23

Which of the 1oBowing 15 rue if the hydronsam on Conc entration of an aqueous solution Ind reases”?

Aw INCreases
pH increases
Kw decreases

pH decreases
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Question No. 21

In the following equation identify the Bronsted-Lowry acid:
NH, + HCN — NH," + CN
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Question No. 20

Refer to the reaction shown below. Adding H2O to the reaction vessel will
21128 (g) ' 302 (B) & 2802 (g) + 2H20 ()

cannot be determined. since the lemperature IS unknown
shift the reaction 1o the rignt
shift the reaction 1o the len

have no efMect
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Question No, 13

r
In a soltion. the solute 1S

o he substance present in the greatest amount
Aways waler

ANWIVS 3 30 ‘

the substance present in the smallest amount
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Question No, 22

What is the conjugate acid of OH-?
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Question No. 19

What is the term for a substance that accepts a protan in an acid-base reaction?

Arrhenius base
Bronsted-| OwWry base

Bronsted-Lowr y acid

Arrhenius acid
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Question No. 11

The most correct name for the com PoundSBrg is

A
monosulfur neptabromlde
Sulfur bromige

Sulfur hexabromfde

monosul!ur nexabrom/c,*e
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Question No. 21

The compound CO; can be described as

o Lewss acid
' Lewss base

Bronsted-Lowry aciq
Annemus acil
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Question No. 20
Which of the following Is true if t

he pH of a solution changes from 5to 77

| H™ ] decreases

k'\x,- dcnea SCS

Kw increases

[ H" ] increases

R AL
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@ 2-ethyl-2-methyl-3-butyne
@ 3. 3-amethyl-1-pentyne
@ 3-ethyl-3-methyl-1-butyne
@ 1-butylethyne
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What is the term for a substance that accepts a proton In an acid base reaction?

© Brensted-Lowry base
© Arhenius base

O Brensted-Lowry acid

O Arrhenius acid
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| Question No. 40

An amino acid is a compound that contains al least

@ one carboxylic acid group and one amino group

@ two amino groups and one carboxylic acid group

@ one hydroxyl group and one methyl group

@ one amino group and one amide group
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Question No. 25

A process or reaction which absorb heat from the surroundings IS sald o be

exothermi
onservatwve
sothermal

cndothermi
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@ slightly basic

@ slightly acidic
| © very basic
' @ very acidic
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Question No. 31 ¥

The formula for butane IS

@ C,Hy

I o CH,,

@ CgHyy
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" Question No. 33
Which of the following molecular formulas corresponds to an alkene?

| @ C;Hy
e GHy,
- ©® CHy,
@ GHyy
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RCOH

! @ phenol
@ carboxylic acid

@ ester
@ aldenhyce
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(Quuuon No. 38

wWhat s the lerm Tor a ipd composed of glycerol and three latty ackis?

€ wax
|
© oils
@ Irnglycerde

& cholestero)
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Question No. 33
Which of the following 18 a monosaccharde?
¢

@ amybse

@ sucrose
| @ slarch
| @ galaciose

I
g
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i Question No. 15

In a neutralization reaction

" @ an acid and a base reactto forma salt and water.
| @ water and a salt react to form an acid and a base.
' @ an acid and a salt react to form water and a base.

- @ two acids react to form water.
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| Question No. 15

| In a neutralization reaction

@ an acid and a base reactto form a salt and water
@ water and a salt react to form an acid and a base.

@ an acid and a salt react to form waler and a base.

@ two acids react to form water
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Question No. 7

| What is the empirical formula of P4Oyy?

9 PO,

@ PO

® P

® PO
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| Question No. 10

| The molar mass of C3HgO215

@ 69 g/mol
@ 76 g/mol

@ 32 g/mol
@ 42 g/mol

_ AT
= STC cocee
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@ Kiyplon is one of the noble gases. N
© Sulfur is considered a metalioid

© Barium is an akaline earth metal

© Manganese is a transition metal
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PN “
ich suffix on a ketone or aldehyde indicates a sugar?

ke
P
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Question No 18

WD of the Toliowing o rue Defore a reaction reaches cheme al equiiboum s

W The rale of Ihe Torward reacthion s ncreasing, and the rale of the reverse reachon JeC e asng

W The rales of ihe Torward and reverse reactions are decreasing

¥ 1The rale of the Torward reachon s decreasing, and the rate of the reverse reachon NCTEAsNY)
The rales of the forward and reverse reachions are ncreasng
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Question No. 16

All of the following compounds has a covalent bond except

AlCl;
BrF
IC]
HBr




“~ STC cocee

(/%0 @ oo VYY1

& & drive.google.com

’Qucstion No. 32
‘What is the [UPAC name of the following structure?

/\J/\’/

@ 1,13 3-tetramethylpentane
@ 2,2,5-trimethylhexane
© 2.4 4-tnimethylhexane

© 3,3,5-trimethylhexane




/80 @ oo \YIYY %= STC cooee

C a drive.google.com

Question No. 15

W )
which one of the lollowing is a weak ac ia?

HC]I
”\()g
HF
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auestion No 19
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